Add and Subtract Mass

1. Solve the calculations and match the answer to the weights shown on the scales.

[ 1. 870g + 230g ] [2.1kgand4209—5209] [ 3.1kgSOg—%kg ]

2. Complete the calculations below to find the odd one out.

A.  1kg and 250g + 450g + 230g =

B. 2kg and 450g - 520g =

a1

C. 1 2 kg + 680g =
1
D. 720g + T3 kg =
1 -
E. 2—— kg -570g =

2

3. Steph is weighing different fruits. She can add up to three items on each side of the
scales. Which items could she use to make the scales correct? Identify all possibilities.

D & @

pumpkin pear orange pineapple melon
9509 150g 100g 5509 6509
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